
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Oliver was stealing from the market. He stole 14 loaves of bread, 2 onions and 21 apples. How many items did Oliver steal 

altogether? 

Write the addition equation and solve: 

22.3.22 
Key Learning: to add two 
2-digit numbers together 
crossing tens 
 

 

 

Oliver was making sacks in the workhouse. He made 66 sacks 

on Monday and 18 sacks on Friday. How many sacks did he 

make altogether?  

Write the addition equation and solve: 

Complete the addition pyramid by 

adding the two blocks next to each 

other together. 

 

27 9 15 


